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1. 8TSIAL G 0-O IHAI (ElT AR 2T (BA?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EafsNHgGwARc
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o Watch Video Solution

3. SO, -a7 PG 9§ 8 fRaids 9§ gwftag

a6 FE [AFIT @]

o Watch Video Solution



https://dl.doubtnut.com/l/_EafsNHgGwARc
https://dl.doubtnut.com/l/_crmp1oBmcE1T
https://dl.doubtnut.com/l/_saX7nppF2lHt
https://dl.doubtnut.com/l/_Q5quwe7c9Q4r
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A. foAfo

B. 7B

C. aBi6
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Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_Q5quwe7c9Q4r
https://dl.doubtnut.com/l/_mVbXcRFTlXEO
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A. CO 932 CO 2

B.H 25 932 Br 2

C.S0 2 932 Cl 2

D.NH 3 932 SO 3

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_mVbXcRFTlXEO
https://dl.doubtnut.com/l/_IlW8nL62JRYO

3. SIAE T BN (@I ST 2130G 616 2teTl-

A. Kr4H 20
B. Kr.6H 20
C.Xe.4H 20

D. Xe.6H 20

Answer: A

o View Text Solution
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https://dl.doubtnut.com/l/_IlW8nL62JRYO
https://dl.doubtnut.com/l/_OIZkTlmlqcLg

A. A12(QITSH lRAIE2G
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C. GIRATRIGISH (DIIT1RG

D. ARIGP TTH1RG

Answer: B

o View Text Solution
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A. spd


https://dl.doubtnut.com/l/_OIZkTlmlqcLg
https://dl.doubtnut.com/l/_thXOEbg9HuAU

Answer: B

o Watch Video Solution
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A 3,2 9R1


https://dl.doubtnut.com/l/_thXOEbg9HuAU
https://dl.doubtnut.com/l/_Qk0bjKfDMX07

B.4,3 AR 2

C.2,3 dRR1

D.3,24dRO0

Answer: A

o View Text Solution
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https://dl.doubtnut.com/l/_Qk0bjKfDMX07
https://dl.doubtnut.com/l/_IN6WDXXg0E5h

B. HBr

C. HCI

D. HF

Answer: B

o View Text Solution

8. Fischer-Ringe's dmioto Y 8 @IS SHIOI

AT AP IO -

A.90% CaC_2 + 10% CaCl 2


https://dl.doubtnut.com/l/_IN6WDXXg0E5h
https://dl.doubtnut.com/l/_fFD0jjoIkTZc

B. (RITHINIG BIADIT
C. OIIGIeTiay + A6 B+

D. 90% CaCO 3 + 10% 3&ft

Answer: A

o View Text Solution
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https://dl.doubtnut.com/l/_fFD0jjoIkTZc
https://dl.doubtnut.com/l/_AcWv1EM8kylQ
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C. C. PIPOF ATF THfodIdD

D. G5 I G B

Answer: A

o View Text Solution
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https://dl.doubtnut.com/l/_AcWv1EM8kylQ
https://dl.doubtnut.com/l/_BBw9zhnnW8ml

B. 31 A1

C. g7 52 AP

D. (BIA A1YFT @2

Answer: C

o View Text Solution
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https://dl.doubtnut.com/l/_BBw9zhnnW8ml
https://dl.doubtnut.com/l/_MTgN62CHVaHT

A.1 2 + 10HNO 3 rarr 2HIO 3 + 10NO 2 +

4H 20

B.3Cu + 8HNO 3 rarr 3Cu(NO 3) 2 + 2NO +

4H 20

C.2HNO 3 + P 20 5rarr 2HPO 3+ N 20 5

D.NO 3 + 3Fe”2+ + 4H"+ rarr NO + 3Fe”3+

+2H 20

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_MTgN62CHVaHT
https://dl.doubtnut.com/l/_NnufKTwYH4zS
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A. 3B G-I e
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Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_NnufKTwYH4zS
https://dl.doubtnut.com/l/_LCNH1EWXzOWQ
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C. [0 Cl-O I&A TITI AT
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Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_LCNH1EWXzOWQ
https://dl.doubtnut.com/l/_L0BudyZfixrU
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A.SO 3%2-

B.SO 4"2-

C.S 20 4%2-

D. HSO 4"-

Answer: A

° View Text Solution
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https://dl.doubtnut.com/l/_L0BudyZfixrU
https://dl.doubtnut.com/l/_ASxPOzvJjVQb

A. JiBIf
B. BITAT BIHIAN

C. OTAfAgIT

D. (GeffqgIT

Answer: C

o View Text Solution
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https://dl.doubtnut.com/l/_ASxPOzvJjVQb
https://dl.doubtnut.com/l/_2n5LJjGeAKBJ
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Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_2n5LJjGeAKBJ

17. B (SIATBO dt - p1T IFA SSAfFo-

A.NO 3"- NO 2"- N 3"- CN"-
B.P 20 3,P 20 5, PO 4"3-
C.NH 3,PH 3,BiH 3

D. CO, NO, CO 2, NO 2

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_p1StvIk08OzS

18. (PTG (SHTIT TABIIS SihG AT dfdfoe-

A.H 3PO 4
B. HPO 3
C.H 4P 20 7

D.H 3PO 2

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_5WaA6NAkU8t0
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A. AlF,

B. CCLF2

C. HF

D.ClF3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4QpftNKwavWm
https://dl.doubtnut.com/l/_sLFn0a9qMH2r
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A.P 2H 4

B.N 2

C.PH 5

D.P 20 5

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_sLFn0a9qMH2r
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A. pb(NO 3) 2 (P G383 BJT NO 2 183 T
B. NO 2 Il Jrefq stviy
C. NO 2 ATKIFTISIAIGD

D.NO 2,%% NO 4 TIRFIJ 51O B

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_S2T4R7hsfi0z
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A. He Q32 kr

B. Ar, Kr 44 Xe

C. Kr 94dt Xe

D. He dd4d% Ne

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_ESDTAeJo1olJ
https://dl.doubtnut.com/l/_YNWIouvDCS29

23.10 3" + al™ + bH"+ rarr cH 20 + dI 2 -4%
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A. a=5, b=6, c=3, d=3

B. a=5, b=3, c=6, d=3

C.a=3, b=5, c=3, d=6

D. a=5, b=6, c=5, d=5

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_YNWIouvDCS29

24, (@IS @fgd K 2¢r 20 7 H1z HebIT
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A.CO 2

B.NO

C.SO 3

D.SO 2

Answer: B::D

o View Text Solution



https://dl.doubtnut.com/l/_9LncpOSRI1X5
https://dl.doubtnut.com/l/_VO2MscI7xhNJ
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V4
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A.H 2S 20 3
B.H 250 5
C.H 2520 7

D.H 25 20 8

Answer: B::D

o View Text Solution



https://dl.doubtnut.com/l/_VO2MscI7xhNJ
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A.IF 3

B.ICI 3

C.IPO 4

D.120 5

Answer: B::C

o View Text Solution



https://dl.doubtnut.com/l/_X5c2xQJojXiY
https://dl.doubtnut.com/l/_Q1VpjzbXQJQE
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A. aft eI ede WmfAEIo 3T XeOF 4
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B. aft BifeTdld 7 RIGART XeOF 4 Testd
I

C.XeF 4 8 O 2F 2 -9 [afe3y af6 SeF 27
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Answer: A::B::C::D

I ° View Text Solution


https://dl.doubtnut.com/l/_Q1VpjzbXQJQE
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A. x-49 1+ 1,3,5 ddR 7 200 AId
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C. FBr; -a3 9If8g (AR
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https://dl.doubtnut.com/l/_Q1VpjzbXQJQE
https://dl.doubtnut.com/l/_MJ9YTClMqYwD

Answer: A::C

o Watch Video Solution
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A. 4 15 P-P 3&7 @it

B. P-P-P J& (PIH 60°

C. 6 5 P-P 3% @I

D. P-P-P J&d (HI4 30°

Answer: B::C


https://dl.doubtnut.com/l/_MJ9YTClMqYwD
https://dl.doubtnut.com/l/_tRzBRJtdizqM

° Watch Video Solution
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A.N 20

B.N 20 3

C.N 20 4

D.N 20 5

Answer: A::B::C::D

° View Text Solution



https://dl.doubtnut.com/l/_tRzBRJtdizqM
https://dl.doubtnut.com/l/_SpuqemehuTl2

31. 164 &1 A Fgissfer 961 T8q ?

A.Cl 2 + 2Br”-rarr 2CI"*- + Br 2
B.Br 2 + 2F"-rarr 2Br"-+ F 2
C.1 2+ 2Br”-rarr 2F"-+ Br 2

D.F 2 + 2Br”-rarr 2F"- + Br 2

Answer: A::D

o View Text Solution



https://dl.doubtnut.com/l/_SpuqemehuTl2
https://dl.doubtnut.com/l/_xNlMwoyYi6eN

32. JYJ (57T It (17T SITiT 2 -

A. Ar
B. He
C. Ne

D. Kr

Answer: A::D

o View Text Solution



https://dl.doubtnut.com/l/_dMzs3b1mOiuy
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C.1

D.2

Answer: A::B::C::D

o View Text Solution



https://dl.doubtnut.com/l/_XPQy8VPCBKCh
https://dl.doubtnut.com/l/_VI8PuetTWPNW
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A. SIS : F 21t Cl 2 1t Br 2
B. GIITAIRCSIA QAT : F gt Cl gt Br
C. ATHGA-WS : F gt Br gt Cl

D. WIIIAIT 7T : F2- It Bro- It Cl7-

Answer: C::D

o View Text Solution
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https://dl.doubtnut.com/l/_VI8PuetTWPNW
https://dl.doubtnut.com/l/_YFsqRAtFtfQx

A F 2

B.Br 2

C.Cl 2

D.l 2

Answer: A::C

° View Text Solution



https://dl.doubtnut.com/l/_YFsqRAtFtfQx

